1960 GeV ppbar

Top (parton Ievel)

M (ttbar)

--=+-- Pythia 6.428 355
----- - Pythia 6.428 356
.—2— Pythia 6.428 370
{==+-- Pythia 6.428 379
Pythia 6.428 ambtl
Pythia 6.428 z2

N
|IIII|IIII|IIII|II—|'

51
B
1

T TTT
=

|
[
11 |%| 11
——
‘ =

[

(MC_FBA_TTBAR)

e

i e
I

| L L] |
Rivet 3.1.10, = 100k events

NN RN

IIII|IIII|III'I——|—II|I||||||

2 i .~ i e T
} — —
—f

DN |
|12

ol ommo e b oo e

P Ly

Ratio to Pythia 6.428 355
[N

== ge—— e

|
200

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


